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TeHHUT dcd] BT IS [T (n — 1)d1° ns2 BIAT & | 317d (n — 1) 3MAR® d-He&d! BI
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Tt A0 & Il & aaei 9= g TSR 9§

3d 9Uft & Tl & FAGSI® [a=ard

3d 9T H Sc, Ti, V, Cr, Mn, Fe, Co, Ni,, Cu T Zn 39 dd g | 37 Saaei-d fg=arg g
THR IR

(i) Se — 21> 1s%, 2522p0, 3523p°3d?, 452
Hfére # — [Ar] 3d! 452

(i) Ti — 22 = 15%, 2s22p®, 3523p°3d2, 452
Tfera | — [Ar] 3d2 452

(i) V - 23 = 15%, 2522p®, 3523p©3d3, 452
e # — [Ar] 3d3 4s2

(iv) Cr — 24 = 152, 2522p°, 3523p°3d>, 45!
Hfére o — [Ar] 3d5 4s!

(v) Mn — 25 = 15*, 25°2p°, 35°3p°3d5, 45>
Tfére # — [Ar] 3d5 452

(vi) Fe — 26 = 1s%, 2522p0, 3523p°3d®, 452
Hfére d — [Ar] 3d6 452

(vii) Co — 27 = 152, 2522p°, 3523p°3d7, 452
Tf&E | — [Ar] 3d7 452

(Yiii) Ni -28> 152, 2s522p°®, 3523p°3d8, 452
T # — [Ar] 3d8 452

(ix) Cu — 29 = 152, 2522p°, 3523p®3d1°, 4s'
Tfera A — [Ar] 3d1° 4s

(x) Zn — 30 = 1s2, 2s522p°®, 3523p©3d'°, 452

e # - [Ar] 3d° 4s?
4d 997t & Tl & FATRID (A=A

4d O HY, Zr,Nb, Mo, Tc, Ru, Rh, Pd, Ag 94T Cd &9 dd & | 3% Faaeidb g g
THPR IR



() Y — 39 = 152, 25%2p°, 3523p°®3d'°, 4s24p°4d’, 552
Tf&a # — [Kr] 44" 552

(ii) Zr — 40 = 152, 2522p°, 3523p®3d°, 4524p%4d>2, 55"
Tfera # — [Kr] 442 55

(ii) Nb — 41 = 15°, 25°2p°, 35°3p®3d"°, 45°4p°4d*, 55'
Tfera # — [Kr] 4d4 55

(iv) Mo — 42 = 15*, 25%2p°, 353p°3d'°, 45°4p°4d5, 55’
T # — [Kr] 4d5 55!

(v) Te — 43 = 152, 2s22p°, 3523p°3d'°, 4524p°®4d°, 55!
Tfe # — [Kr] 4d° 55

(vi) Ru — 44 = 15*, 25°2p°, 35°3p®3d'°, 45°4p°4d’, 55’
Tf&a ® — [Kr] 4d7 55!

(vii) Rh — 45 = 15%, 25°2p°, 35°3p°3d'”, 4s*4p°4d®, 55!
e # — [Kr] 4d8 55

(viii) Pd — 46 = 15% 25°2p°, 353p°3d"°, 4s°4p°4d'®, 55°
Tfea A — [Kr] 4d° 55°

(ix) Ag — 47 = 152, 2s22p°, 3523p°®3d'°, 45%4p®4d™°, 55
Tfera ® — [Kr] 4d° 55

(x) Cd — 48 = 152, 25%2p5, 3523p®3d'°, 4524p®4d'°, 55°
Tfea # — [Kr] 4d° 552

5d Uit & Il & SaaeI-D A=A

5d 90N H La, Hf, Ta, W, Re, Os, Ir, Pt, Au @1 Hg &9 dcd g | 37 Sqdeidb [a-ary 9
TSR I G|

(i) La — 57 = 15%, 25°2p°, 35°3p°®3d', 45*4p°4d'°, 55°5p°5d", 65
Tfer # — [Xe] 5d" 6s2

(i) Hf — 72 = 15%, 25°2p°, 35°3p®3d'°, 454p°4d'°4f'4, 55°5p°5d?, 65
Tfera # — [Xe] 44 5d2 652

(iii) Ta — 73 = 1s°, 25°2p°, 35%3p°3d', 45°4p°4d'°4f'4, 55°5p°5d3, 65
e # — [Xe] 44 5d3 652

(iv) W — 74 = 15°, 25%2p°, 3s°3p°3d', 45°4p°4d'°4f"4, 5s5p°5d4, 65>
Tfee # — [Xe] 44 5d4 652

(v) Re — 75 = 152, 2522p°, 3523p°®3d'°, 4524p®4d'°4f'4, 55?5p°5d°, 65>
i3 | — [Xe] 44 5d5 652

(vi) Os — 76 = 152, 2522p°®, 3523p%3d'°, 4524p®4d'°4f'4, 5525p°5d°®, 652
Tfere # — [Xe] 44 5d6 652

(vii) Ir — 77 = 15, 25°2p°, 35°3p°3d"°, 45°4p°4d'4f'4, 55%5p°5d’, 65
Tfera # — [Xe] 4f4 5d7 652

(viii) Pt — 78 = 15%, 25%2p°, 3s°3p°3d"°, 45%4p°4d'°4f"4, 55°5p°5d°, 65
e # — [Xe] 414 5d9 65



(ix) Au - 79 = 15*, 25°2p°, 35°3p®3d'°, 45°4p®4d'°4f'4, 55*5p°5d", 65"
e A — [Xe] 44 5d1° 6s!
(x) Hg — 80 = 15% 25°2p°, 353p°3d'°, 45°4p°4d'°4f'4, 55°5p°5d'°, 65>
Tf& # — [Xe] 4f'4 5d'° 6s2

6d 9Tt & Tl & FAaSIH® A=A

6d 90fi H Ac, Rf, Db, Sg, Bh, Hs, Mt, Ds, Rg 34T Cn &9 dd & | 37 3aaeidb g g
THR Y T

() Ac _ﬁ 89 = 152, 2522p°, 3523p°®3d'°, 4524p°4d*°, 5525p°5d"°, 6s26p°6d’, 75>

Hféra v - [Rn] 6d* 7s?

(ii) Rf — 104 = 152, 2522p°, 3523p°®3d'°, 4524p®4d'°4f"4, 5525p°5d°5('4, 6s26p®6d>, 75
Tfére # — [Rn] 54 6d2 7s2

(iii) Db — 105 = 152, 2522p°®, 3523p°3d'°, 4524p®4d'°4f'4, 5525p°5d1°5f'4, 6526p°6d3, 75>
Jféred A — [Rn] 514 6d3 7s2

(iv) Sg — 106 = 152, 2522p°, 3523p°3d'°, 4524p®4d'°4f"4, 5525p°5d°5('4, 6s26p°6d?, 75
Tf&re # — [Rn] 514 6d4 7s2

(v) Bh — 107 = 152, 2s22p°%, 3523p©3d"°, 4524p®4d'°4f"4, 5525p°5d'°5f'4, 6526p°6d3, 75
Tf&r # — [Rn] 514 6d5 7s2

(vi) Hs — 108 = 152, 2522p®, 3523p%3d'°, 4524p®4d'°4f'4, 5525p°5d'°5f'4, 6526p°®6d°, 752
& # — [Rn] 54 6d° 7s2

(vii) Mt — 109 = 152, 2522p6, 3523p®3d'°, 4524p®4d1°4f14, 5525p65d1°5f'4, 6526p®6d7, 752
Tf&ra # — [Rn] 514 6d7 7s2

(viii) Ds — 110 = 152, 2522p°, 3523p%3d1°, 4524p°4d'°4f4, 5525p°5d'°5f14, 6526p°6d8, 7s2
Tf&e # — [Rn] 54 6d8 752

(ix) Rg — 111 = 152, 2522p°®, 3523p%3d'°, 4524p®4d'°4f'4, 5525p°5d'°5f'4, 6526p®6d1°, 7s!
Tfére # — [Rn] 54 6d1° 7s!

(x) Cn — 112 = 15%, 25°2p°, 35°3p°3d', 45°4p°4d'°4f'4, 55°5p°5d 514, 65°6p°6d'°, 75>
Tf&ra # — [Rn] 54 6d1° 7s2





